Economics: The Basics, 2e


Study Guide: Chapter 6 Appendix

Learning Objectives

LO6A-1 Explain the role of utility maximization in consumer choice and use the concept of price elasticity of demand.

LO6A-2 Explain the role of cost minimization in producer decisions and use the concept of price elasticity of supply.

LO6A-3 Explain the incidence of a tax.

Outline

· Consumer Choice
· The Utility Function is the mathematical representation of a person’s likes and dislikes.

· Utility represents the physical and emotional benefits of consumption.
· Marginal Utility is the extra utility from an additional unit of consumption.
· The Diminishing Marginal Utility states that marginal utility will decrease as consumption of that good or service increases. 
· Budget Constraint

· Represents the combination of goods and services a person can consume, given the price of the goods and services and the person’s income.
· Rational individuals attempt to maximize their utility subject to their budget constraint; people will attempt to choose the combination of goods and services that makes them the happiest, given what they can afford.

· Decisions over time
· Sometimes people need to make consumption decisions between the present and the future.
· Intertemporal utility maximization occurs when people attempt to maximize their utility based on consumption in two different time periods.
· The discount factor (a number between zero and one) measures the rate at which the individual would be willing to trade next year’s consumption for the same amount of consumption in the present.
· Price Elasticity of Demand is the percentage change in quantity demanded that results from a 1% change in price.
· The more inelastic the demand curve is, the steeper it will be.
· Consumer Surplus is the net benefit between what you would have been willing to pay and what you actually paid. Graphically, this is represented by the distance between the demand curve and the equilibrium price in the market.
· Production Decisions
· For any given level of output, firms will attempt to find the least costly way to produce it. This is known as cost minimization.
· Firms will choose to hire labor or capital based on the relative prices and how much they produce.
· Inputs are complements if a price increase in one input leads to a decrease in the quantity demanded for another.
· Inputs are substitutes if a price increase in one input leads to an increase in quantity demanded for another.
· Output and Pricing Decisions

· Recall, firms try to maximize profit where MR = MC. In perfect competition, MR = P; therefore, firms will produce where MC = P.
· Regressive taxes cause low-income households to pay a larger share of their income than high-income households (i.e. sales taxes).
· Price Elasticity of Supply is the percentage change in quantity supplied, given a 1% increase in price.
Common Myths & Common Problems

· Don’t firms set their own price?

· No. In a perfectly competitive market, firms are price takers. This means that under perfect competition, no firm has enough market power to raise or lower prices in any meaningful way. Firms must accept the market price and adjust their production accordingly.
· Doesn’t utility maximization mean getting everything I want that makes me happy?

· Not really. Utility maximization does imply that you will consume the goods and services that make you happy, but that is tempered by your budget constraint. Economics deals with two sides of an equation. On one side, you have what you want. On the other side, you have what you can afford. For economists, we study how people make themselves as well off as they can, given their income. 
· In addition, do you mean long-term happiness or short-term happiness? If I were at a breakfast bar, I might be tempted to eat several plates of eggs and bacon because I derive a lot of happiness from eating eggs and bacon. However, I have to temper that short-term happiness with my long-term happiness of living past my mid-40s. That means I might forgo some bacon and eggs today for a larger payoff tomorrow (i.e. not being dead).
· If the government taxes gasoline, doesn’t Big Oil pay for most of the tax?
· No. What usually happens is that the tax is passed on to the consumer, who will bear the brunt of the tax. See “Real World Applications from an Economist’s Perspective” below.
Real World Applications from an Economist’s Perspective

It is human nature to lash out at people who we perceive as harming us (whether this is good or bad, I’ll leave to the moral ethicists). In recent years, there has been a public outcry to tax Big Oil, to tax gasoline companies because they must be making a huge profit from consumers, given the rising oil prices. The question that only economists seem to appreciate is, who will really pay that tax?

Let’s assume that Congress passes a gasoline tax on oil companies based on how much gasoline they sell in the retail market. As we have learned, that will increase the price of the good paid by the consumer, and reduce the price received by the producer. In the end, consumers and producers both pay the tax. However, if we examine the incidence of the tax, we can see who pays more.

The first thing we need to determine is the price elasticity of demand for gasoline. Is gasoline a luxury or a necessity? For most of us, it is a necessity, or pretty close to being one. Our consumption of gasoline does not change much when prices increase. The demand curve for gasoline will be fairly steep.

Given the steep slope of the demand curve, this means that most of the tax burden will come from consumer surplus. This means that consumers will bear the brunt of the tax and not the gasoline producers. This “do-good” tax, while aimed to hurt Big Oil, will only hurt consumers. In economics we call results like this an “unintended consequence”. 
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Now it’s Your Turn
1.  Imagine that you are a politician who wants to place a tax on a product, but you want the producer to pay the brunt of the tax. Should you tax a necessity or a luxury good? Graph a tax on both, and illustrate the differences in the amount of consumer surplus that is taken by the tax.

2.  As an illustration of diminishing marginal utility, think about your favorite food. Ask yourself which makes you happier, the first unit consumed, or the 150th unit consumed?

Practice Quiz

1. On the margin, which should provide more utility (assuming you like Big Macs)?

a. Your first Big Mac

b. Your 10th Big Mac

c. Your 15th Big Mac

d. Your 150th Big Mac

2. The budget constraint:

a. Says what combination of goods and services you can afford, as dictated by the man.

b. Says what combination of goods and services you can afford, given income.

c. Says what combination of goods and services you can afford, given prices.

d. Says what combination of goods and services you can afford, given prices and income.

3. A person cares more about the future when:

a. She has a low discount factor.

b. She has no discount factor.

c. She has a discount factor close to 1.

d. She has a discount factor equal to 0.5.

4. Which demand curve is more elastic?

a. A relatively steep demand curve

b. A perfectly vertical demand curve

c. A relatively flat demand curve

d. An evenly rotating demand curve

5. Which will see a larger change in quantity demanded?

a. An inelastic demand curve

b. A vertical demand curve

c. An elastic demand curve

d. None of the above

6. It’s a hot day and you would be willing to pay $10 for a cola; you go to a vending machine and pay $1.50. What is your consumer surplus?

a. $10

b. $1.50

c. $8.50

d. $11.50

7. When wages increase, a firm hires more capital; this is an example of:

a. A complementary input.

b. A substitute input.

c. The decline of human dignity.

d. The cost of in-sourcing labor.

8. Which provides a better picture of business performance?

a. Accounting costs

b. Business costs

c. Economic costs

d. Dead weight loss

9. Who bears more of the tax burden when a necessity is taxed?

a. Consumers

b. Producers

c. Consumers & Producers share it equally 

d. The government

10. When examining tax incidence:
a. Price elasticity of demand affects the share of the tax burden.
b. Price elasticity of supply affects the share of the tax burden.
c. Price elasticity is irrelevant.
d. Both A and B.

Answer Key

1.  C

2.  C

3.  B

4.  A

5.  A

6.  B

7.  C

8.  C

9.  A
      10.  D

